
 
 
 

 40 UNIVERSITAS BUNG HATTA 
 

𝜎217 =  
ଵଽ଻ି  

ఱబరభ

మళ

ଶ଻
  

       = 0.38 

 

𝜎218 =  
ଶସହି  

(ళవ)మ 

మళ

ଶ଻
 

𝜎218 =  
ଶସହି  

లమరభ

మళ

ଶ଻
  

       = 0.51 

 

𝜎219 =  
ଶ଴ଵି  

(ళభ)మ 

మళ

ଶ଻
 

𝜎219 =  
ଶ଴ଵି  

ఱబరభ

మళ

ଶ଻
  

       = 0.53 

 

𝜎220 =  
ଵଽ଺   

(ళబ)మ 

మళ

ଶ଻
 

𝜎220 =  
ଵଽ଺ି  

రవబబ

మళ

ଶ଻
  

       = 0.54 

 

𝜎221 =  
ଶ଺ଶି  

(ఴమ)మ 

మళ

ଶ଻
 

𝜎221 =  
ଶ଺ଶି  

లఱలభ

మళ

ଶ଻
  

       = 0.48 

 

𝜎222 =  
ଶହ଻ି  

(ఴభ)మ 

మళ

ଶ଻
 

𝜎222 =  
ଶହ଻ି  

లఱలభ

మళ

ଶ଻
  

       = 0.52 
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𝜎223 =  
ଶହ଴ି  

(ఴబ)మ 

మళ

ଶ଻
 

𝜎223 =  
ଶହ଴ି  ଺ସ଴଴

ଶ଻
  

       = 0.48 

 

𝜎224 =  
ଶସ଺ି  

(ళఴ)మ 

మళ

ଶ଻
 

𝜎224 =  
ଶସ଺ି  

లబఴర

మళ

ଶ଻
  

       = 0.76 

 

𝜎225 =  
ଶଶଶି  

(ళర)మ 

మళ

ଶ଻
 

𝜎225 =  
ଶଶଶି  

ఱరళల

మళ

ଶ଻
  

       = 0.71 

 

𝜎226 =  
ଶଷଶି  

(ళల)మ 

మళ

ଶ଻
 

𝜎226 =  
ଶଷଶି  

లబఴర

మళ

ଶ଻
  

       = 0.67 

 

𝜎227 =  
ଶସସି  

(ళఴ)మ 

మళ

ଶ଻
 

𝜎227 =  
ଶସସି  

లబఴర

మళ

ଶ଻
  

       = 0.69 

 

𝜎228 =
ଶ଼଼ି  

(ఴర)మ 

మళ

ଶ଻
 

𝜎228 =  
ଶ଼   

ళబఱల

మళ

ଶ଻
  

       = 0.99 
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𝜎229 =  
ଶସ଼ି  

(ళఴ)మ 

మళ

ଶ଻
 

𝜎229 =  
ଶସ଼ି  

లబఴర

మళ

ଶ଻
  

       = 0.84 

 

𝜎230 =  
ଶ଻ଶ   

(ఴమ)మ 

మళ

ଶ଻
 

𝜎230 =  
ଶ଻ଶି  

లళమర

మళ

ଶ଻
  

       = 0.85 

 

𝜎231 =  
ଶଶ   

(ళఱ)మ 

మళ

ଶ଻
 

𝜎231 =  
ଶଶଷି  

ఱలమఱ

మళ

ଶ଻
  

       = 0.54 

 

𝜎232 =  
ଶ଺଺ି  

(ఴమ)మ 

మళ

ଶ଻
 

𝜎232 =  
ଶ଺଺ି  

లళమర

మళ

ଶ଻
  

       = 0.63 

𝜎233 =  
ଶ଺ଽି  

(ఴభ)మ 

మళ

ଶ଻
 

𝜎233 =  
ଶ଺ଽି  

లఱలభ

మళ

ଶ଻
  

       = 0.96 

 

Calculations of Varians Score for Each Item : 

Σσ𝑏ଶ = 0.88 + 0.67 + 0.56 + 0.69 + 0.67 + 0.60 + 0.91 + 0.85 + 0.62 + 

0.69 + 0.82 + 0.66 + 0.51 + 0.61 + 0.46 + 0.69 + 0.38 + 0.51 + 0.53 + 0.54 

+ 0.48 + 0.52 + 0.48 + 0.76 + 0.71 + 0.67 + 0.69 + 0.99 + 0.84 + 0.85 + 

0.54 + 0.63 + 0.96 

Σσ𝑏ଶ= 22.02 
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Total of Variants : 

𝝈2t =  
𝚺𝒙𝟐ି  

(𝚺𝒙)𝟐 

𝐍

𝐍
 

𝝈2t =  
𝟏𝟗𝟕𝟗𝟖𝟕ି  

(𝟐𝟓𝟒𝟏)𝟐 

𝟑𝟑

𝟑𝟑
 

𝝈2t =  
𝟏𝟗𝟕𝟗𝟖𝟕ି 𝟏𝟗𝟓𝟔𝟓𝟕

𝟑𝟑
 

𝝈2t =  
𝟐𝟑𝟑𝟎

𝟑𝟑
 

𝝈2t =  70.61 

 

Alpha Formula : 

𝑟𝑖𝑖 =  ൬
𝑘

𝑘 − 1
൰ ቆ1 −

Σσ𝑏ଶ

𝜎2t
ቇ 

𝑟𝑖𝑖 =  ൬
33

33 − 1
൰ ൬1 −

22.02

70.61
൰ 

𝑟𝑖𝑖 =  ൬
33

32
൰ (1 − 0,31) 

𝑟𝑖𝑖 =  (1.03)(0.69) 

𝒓𝒊𝒊 =  𝟎. 𝟕𝟏 (reliable) 

 

 

 

 

 

 

 

 

 

 


